Kansas Corporation Commission OIL & GAS CONSERVATION DIVISION

Name: FIML Natural Resources, LLC Address: 410 17th Street Ste. 900 City/State/Zip: Denver, CO. 80202

Operator: License # _33476

Purchaser: NCRA

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

County: Scott			 			
NW_SW_NE					☐ East 🗸	West
		•	_		ine of Sect	
0.400		_	· •		_ine of Sec	
Footages Calculated		_				
(circle one)	(NE)	SE	NW	sw		
Lease Name: Dear				Well #:	7B-18R-19	931
Field Name: Unknow	vn				<u> </u>	_
Producing Formation		<u> </u>		· – –		
Elevation: Ground:_	2971'		Kelly Bus	29 hing:	85'	
Total Depth: 4657*	Plug B	ack Tota	I Depth:	4624'		
Amount of Surface P	ipe Set ar	nd Ceme	nted at S) jts @ 397	<u>,</u>	_ Feet
Multiple Stage Ceme	nting Coll	lar Used	?		[/]Yes	∏No
If yes, show depth se	t DV tool	@ 3007				_ Feet
If Alternate II comple	tion, cem	ent circu	lated fro	m_3007_		
feet depth to Surface		w/	445		S	x cmt.
Drilling Fluid Manag	gement P	lan Jeserve Pi	7+1	NSI	1-23 8	25
Chloride content 480	00	_ ppm	Fluid v	olume_90	10	_ bbls
Dewatering method u					· · -	
Location of fluid disp	osal if had	uled offs	ite:			
Operator Name:			 -		- —	
Lease Name:			License	No.:		
Quarter Sec.	Т	wp	_S. R.		☐ East [] West

Operator Contact Person: Cassandra Parks Phone: (303) 893-5090 Contractor: Name: Murfin Drilling Company License: 30606 Wellsite Geologist: _ Designate Type of Completion: COMEIDENTIAL New Well .____ Re-Entry __ SIOW __ _NCTemp. Abd/[][]A __ Gas __ ENHR _ __ SIGW _____ Other (Core, WSW, Expl., Cathodic, etc) __ Dry If Workover/Re-entry: Old Well Info as follows: Operator:_ Well Name:. Original Comp. Date: _____ Original Total Depth: __ ___ Re-perl. _ Deepening _Conv. to Enhr./SWD ___ Plug Back_ Plug Back Total Depth _ Commingled Docket No. ___ _ __ Dual Completion Docket No. __ ___ Other (SWD or Enhr.?) Docket No._ 08/18/2009 08/24/2009 09/24/2009 Date Reached TD Spud Date or Completion Date or Recompletion Date Recompletion Date INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-

All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge. KCC Office Use ONLY Regulatory Specialist Letter of Confidentiality Received

TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING

Subscribed and sworn to before me this Let day of Movember 20 09

Date Commission Expires:

If Denied, Yes [_] Date: _____

Wireline Log Received **Geologist Report Received**

RECEIVED NOV 0 5 2009 **UIC Distribution**

			Side	e Two				• •
Operator Name: FIM	L Natural Resources	s, LLC	Lease	Name: [Dearden		, Well #: 78-	18R-1931
Sec. 18 Twp. 19	9 S. R. 31	☐ East	County	: Scott			* 1	
tested, time tool oper temperature, fluid red	n and closed, flowing covery, and flow rates	nd base of formations and shut-in pressure s if gas to surface test inal geological well sit	s, whether sh , along with f	nut-in pre	ssure reached s	tatic level, hydro	static pressur	es, bottom hole
Drill Stem Tests Take (Attach Additional		✓ Yes 🛅 No		√ L	og Formatio	n (Top), Depth a	ind Datum	Sample
Samples Sent to Geo	ological Survey	Yes No		Nam Tope			Top 3659'	Datum -3659
Cores Taken		Yes ☑ No		Heeb			3904'	-3904
Electric Log Run		V ✓ Yes No		Lansi	ng		3943'	-3943
(Submit Copy)				Marm	aton		4362'	-4362
List All E. Logs Run:				Cher	okee		4513'	-4513
Spectral Dens Compensated	•	ed Neutron; Arr licrolog	ray	Missi	ssippi		4587'	-4587
		CASIN Report all strings se	IG RECORD	✓ Ne urface, inte	-	on, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Wei Lbs.		Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	23.0		397'	A Common	240	2% get, 3% CaCl2
Production	7-7/8'	5-1/2"	15.5		4658'	ASC	308	2% gel, 10% salt, 5 pps gli
					DV tool @ 3007	Lightweight	445	.25 pps flo & 5 pps gil
		ADDITION	AL CEMENTI	NG / SQL	JEEZE RECORD			
Purpose: Perforate	Depth Top Bottom	Type of Cement #S		Used	Type and Percent Additives			s
Protect Casing Plug Back TD Plug Off Zone	Mouse & rat hole	Lightweight	45	45 0.25 pps		25 pps flocele & 5.0 pps gilsonite		
- Flag Oil Zoile								
Shots Per Foot		ON RECORD - Bridge P Footage of Each Interval I				ture, Shot, Cemen		rd Depth
2	4331-4335'				Acidize w/ 750 gal 15% MCA & 1500 gal 15% MCA 4331-			% MCA 4331-35'
	CIBP @ 4364'				4			
4	4369-4371'				Acidize w/ 500	gal 15% MCA		4369-71'
	CIBP @ 4382'							4382'
2	4393-4397'				Acidize w/ 750	al 15% MCA		4393-97
TUBING RECORD 2-3	Size 3/8"	Set At 4364'	Packer A	At	Liner Run	_Yes ✓ No	ı	
Date of First, Resumer 10/02/2009	d Production, SWD or E	inhr. Producing N	flethod [Flowing	g √ Pumpir	g Gas Li	ft 🗍 Oth	er (Explain)
Estimated Production Per 24 Hours	Oil 1	Bbls. Gas	Mcf	Wate	er Bl	ols. (Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	COMPLETION			Production Inter-	val		
Vented Sold	Used on Lease	☐ Open Ho ☐ Other (Sp	le ✓ Perf	_	Dually Comp.	Commingled _		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566 AUG 2 4 2009 2347

INVOICE Invoice Number: 119723 Invoice Date: Aug 18, 2009

Page:

Bill To:

FIML Natural Resources LLC 410 l7th St., #900 Denver, CO 80202

CustomerID	Well Name# or Customer P.O.		
FIML	Dearden 7B-18R-1931		
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Aug 18, 2009	9/17/09

Quantity	OMENIEMI Item	Descr	iption	Unit Price	Amount
240.00	WAMA 4 3 SOA	Class A Common		15.45	3,708.00
5.00	MAT MOO	Gel		20.80	104.00
8.00	MAT CONCE	Chloride		58.20	465.60
253.00	SER	Handling		2.40	607.20
60.00	SER	Mileage 253 sx @.10 per sl	c per mi	25.30	1,518.00
1.00	SER	Surface		1,018.00	1,018.00
60.00	SER	⊃ump Truck Mileage		7.00	420.00
1.00	EQP	Texas Pattern Guide Shoe		315.00	315.00
1.00	EQP	AFU Insert		377.00	377.00
3.00	EQP	Centralizer		62.00	186.00
1.00	EQP	Plug		68.00	68.00
			D 09057 810-145	NO	ECEIVED IV 0 5 2009 C WICHITA
			8100° 100 B	KU	2 AAIOLILIA
LL PRICES A	RE NET, PAYABI	Subtotal	<u> </u>		8,786.80
ODAYS FOL	LOWING DATE O		· · · · · · · · · · · · · · · · · · ·		329.09
	1/2% CHARGED	Total Invoice An	nount		9,115.89
<i>ロに代にみた!に</i> た	R. IF ACCOUNT IS				

757 36

ONLY IF PAID ON OR BEFORE

Sep 17, 2009

1 \ /\\\	
—()∞	8,786.80
	329.09
nt	9,115.89
plied	
	9,115.89
	nt Dlied

- 1757.36

ALLIED CEMENTING CO., LLC. 043694

REMIT TO P.O. BOX 31		SERVICE POINT:	
RUSSELL, KANSAS 67665		ONK	11/25
8-18-09 SEC. TWP. RANGE CA	ALLED OUT ON LO	CATION JOB START	JOB FINISH
8-18-09 SEC. TWP. RANGE CA		DOAM DISOLA	
Dearder 18R-	· Ly e. Rodro i	COUNTY S	STATE
	· '	2/8 (
OLD OF NEW Circle one) S - Dead and	126.3462		
CONTRACTOR MUQUE DELS # 22	OWNER	<u></u>	
TYPE OF JOB SUNSINCE			
HOLE SIZE 1214 TD. 400'	CEMENT AMOUNT ORDERED	24.0	29-00
CASING SIZE & 6/4 23 DEPTH 399' TUBING SIZE WEIDEN TIME DEPTH	2 90 al	740 20W	7 78 7
DOUT BING DEDTH	7 10 CC	·	
TOOL NOV 11 2 2009 DEPTH		4.6	d
Additional to the state of the	COMMON2	40 @ 15 42	<u>. 3708 </u>
MEAS LINE SHOE JOINT 42	POZMIX	@	0-
CEMENT LEFT IN CSG. 42.28	GEL	5 @ 20°	104 60
PERFS.	CHLORIDE	8 @ 5820	- 465
DISPLACEMENT 22.6	ASC	@	
EQUIPMENT		@	
		n@	
PUMPTRUCK CEMENTER FUZZ 9	RECEIVE	<u>u</u> @	
	NOV 05	200 9 @	
# 43 (HELPER PARTY BULK TRUCK	MARS	@	
_	KCC MIC	HITA@	
# 377 DRIVER Darrico BULK TRUCK	KCC MIC		
# DRIVER		@	- 1-525
THE DRIVER	HANDLING 25		607 2
	MILEAGE		1518
REMARKS:		TOTA	16 402 E
Cement did circulate			
		SERVICE	
Plus down a 5:15pm	DEPTH OF JOB	3	99'
	PUMP TRUCK CHAR		101800
	EXTRA FOOTAGE	@	
	MILEAGE 60		42000
Thanks Fuzzh + crew	MANIFOLD		
	117 II 11 O D D	@	
		@	
CHARGE TO: F I W L			. 99
		TOTA	AL 1438
STREET			
CITYSTATEZIP	DI UC		io salves
	PLUG	& FLOAT EQUIPM!	eni - 99
	1- Trues Pat	Guideshow	315
-5h. (1 HTU INS	<u> </u>	37700
٠ ه کې	5 3. Cont	@ 620	786 60
To Allied Cementing Co., LLC.	1. 45/8 p	<u></u> @	6455
You are hereby requested to rent cementing equipment	-		
and furnish cementer and helper(s) to assist owner or		@	
contractor to do work as is listed. The above work was			00
done to satisfaction and supervision of owner agent or		TOT	AL <u>946 </u>
contractor. I have read and understand the "GENERAL			
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)		
TEMPIS AIND COMDITIONS IISLED OIL THE TEVELSE SIDE.			
/1/70 M)do-	TOTAL CHARGES _		•
PRINTED NAME CONTRACTOR	DISCOUNT	IF F	PAID IN 30 DAYS
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII			



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

2347

INVOICE Invoice Number: 119790

Invoice Date: Aug 24, 2009

Page:

Bill To:

FIML Natural Resources LLC 410 17th St., #900 Denver, CO 80202

Dearden 7B-18R-1931

CustomerID	Well Name# or Customer P.O.	Payment Terms		
FIML	FIML Dearden #7B		Days	
Job Location	Camp Location	Service Date	Due Date	
KS1-02	Oakley	Aug 24, 2009	9/23/09	

Quantity	ltem	Description	Unit Price	Amount
6.00	MAT	Gel CONFIDENTIAL	20.80	124.80
308.00	MAT	ASC Calss A	18.60	5,728.80
29.00	MAT	Salt NOV 4.2 2009	28.95	839.55
1,540.00	MAT	Gilsonite	0.89	1,370.60
500.00	MAT	WFR-2	1.27	635.00
391.00	SER	Handling	2.40	938.40
60.00	SER	Mileage 391 sx @.10 per sk per mi	NET) 39.10	2,346.00
1.00	SER	Mileage 391 sx @.10 per sk per mi Production Casing - Bottom Stage RECE	2,185.00	2,185.00
60.00	SER	Pump Truck Mileage	1 5 2009 7.00	420.00
1.00	EQP	Non Fill Float Shoe	192.00	192.00
1.00	EQP	Stop Ring	NICHITA 29.00	29.00
1.00	EQP	D V Tool KCC	2,185.00 7.00 192.00 NICHITA 29.00 2,832.00	2,832.00
1.00	EQP	Sure Seal Float Collar	372.00	372.00
2.00	EQP	Basket	161.00	322.00
25.00	EQP	Centralizers	7 35.00	875.00
		905		
1		20' , '	0	
		200-11		
		Centralizers 0905	, KM	
		\ \land{\text{1.00}}	to the	
		I Man.	(3)),,	
ALL PRICES A	RE NET, PAYABL	E Subtotal		19,210.15
30 DAYS FOLI	LOWINĠ DATE O	1		839.21
	1/2% CHARGED	Total Invaina America		20,049.36
=). IF ACCOUNT I KE DISCOUNT C	· 		

ONLY IF PAID ON OR BEFORE

Sep 23, 2009

Payment/Credit Applied 20,049.36 **TOTAL**

-3842.03

16,207.33

ALLIED CEMENTING CO., LLC. 043667

REMIT TO P.O. BO	OX 31 ELL, KAN	ISAS 6766	5			SER	VICE POINT:	ey
DATE 8 - 24 - 07	SEC.	TWP. /9	RANGE /	CA	LLED OUT	ON LOCATION	JOB START	JOB FINISH
nearben	WELL#	つろ	ک LOCATION	c0//	city	E 55	COUNTY	STATE
CLD OR NEW Cir		<u> </u>		sinte				
CONTRACTOR /		n Ori		22	OWNER -	same		
HOLE SIZE >	18	T.D.	458		CEMENT	208	che de	·
CASING SIZE .	S/2 ONFIDI	DEI		کمار	AMOUNT OR	DERED 308	7/3 2/2 7/48 2/2	scel
TUBING SIZE CO		DEI			300 996	WFR-2		
TOOL OV	NUA () 5	7111111	TH 3006	ک ,,			_	
PRES. MAX	- K.C.		IIMUM	181	COMMON		@ @	
MEAS. LINE	LCSC	SHC 3 くっと	DE JOINT 25	110	POZMIX	585	-@ <u>20180</u>	124,80
CEMENT LEFT IN PERFS.	1 C3U, A		Water	mud			@	
DISPLACEMENT	110,	25 BB		21,55	ASC <u>30</u>	8 583	@ 18,60	5728,82
	EQU	IPMENT			C-/-	20145	_@ 8/95	C/20 CC
			_		SaLT	29555	_@ <i></i>	839,55
	CEMENT HELPER		ndrew rene		Glisonii	te 1540	<u>4</u> @ <u>789</u> @	1370,66
BULK TRUCK		_	•	-11	VEBUFR- 5	2 50099	と@ 1,27	635.00
	DRIVER	Darr	7 ~	RECEI	152	<u> </u>		
BULK TRUCK # <u>3</u> タゲ	DDIVED	way	.e	100	7 100-	291 cks	- @ 3,33	079.42
# 377	DRIVER	uzy		-MOT	HANDING	0 5k/m	@ 2140	2346,00
	RE	MARKS:		KCC,	MOLEAGE Z	<u> </u>	TOTA	11002 15
Pump 500	igh in	7FR-2	mix ASC					
waspend			naridae			SERV	ICE	
Aug land	1 1	dele	Land plug	<i>v</i>	DEPTH OF IC	OB 465	7,65'	
TOL 1300	مطنز	<u> </u>				K CHARGE		2/85.0
					EXTRA FOO		@	7/40 06
		1	- Funda			LD MILE	_	
		The	7.509		MANIFOLD.			-
CHARGE TO:	FI	ML					TOTA	1.2605,00
STREET							IUIA	L'ACC
CITY	S	TATE	ZIP		-1/2	PLUG & FLOA	AT EQUIPME	:NT
					Taran in i	Il Float Sh	200	192,00
				u	1 5700 r	ing	<u> </u>	179,00
To Allind Como	ntina Ca	uc			I DV TO	200		2832,00
To Allied Cemer	nning Co., reamested	to rept ce	menting equin	nent	1 suresec	float colk	~ @	372100
and furnish ceme	enter and	helper(s)	to assist owner	or	2 Baske	75		0 322,00
contractor to do					3 (47)	44205		0 875,00
done to satisfact	ion and s	upervisior	of owner ager	nt or			TOTA	L 4622,00
contractor. I hav					SALES TAX	(If Any)		
	1 17	?	h 1.		TOTAL CHA	RGES		
PRINTED NAME	:_ <i> </i> /{	i fry	Dalle		DISCOUNT		IF P/	AID IN 30 DAYS
	1, 24	> /	1					



DECEIVED

2347

INVOICE

Invoice Number: (119791

Invoice Date: Aug 24, 2009

Page:

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

FIML Natural Resources LLC

410 l7th St., #900 Denver, CO 80202

Dearden 7B-18R-1931

Customer ID	Well Name# or Customer P.O.	Payment	Terms
FIML	Dearden #7B	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Aug 24, 2009	9/23/09

Quantity	Item	Des	cription	Unit Price	Amount
480.00	MAT	Lightweight Class A	CONFIDENTIAL	14.05	6,744.00
2,400.00	MAT	Gilsontie		0.89	2,136.00
120.00	MAT	Flo Seal	NUV 7 2 2073	2.50	300.00
566.00	SER	Handling	KCC	2.40	1,358.40
60.00	SER	Mileage 566 sx @.10 per	sk per mi	56.60	3,396.00
1.00	SER	Production Casing - Top S	Stage	1,185.00	1,185.00
	DE MET DAVAR	RECEIVED NOV 0.5 2009 KCC WICHITA	20057 8200-118 Man 2	12/2	15 119 40
ALL PRICES A	RE NET, PAYAB	LE Subtotal	0		15,119.40

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3023 88

ONLY IF PAID ON OR BEFORE

Sep 23, 2009

 Subtotal
 15,119.40

 Sales Tax
 578.34

 Total Invoice Amount
 15,697.74

 Payment/Credit Applied
 15,697.74

-3023.88

12,673.86

ALLIED CEMENTING CO., LLC. 043668

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 6766	5			SERV	OQKL	<u>-</u>
DATE 8-24-07 SEC. 8 TWP.	RANGE.	CA	ALLED OUT	ON LOCATION	JOB START	JOB FINISH
Dearben Well# 7B		scott	CITY LE	55	COUNTY	STATE
OLD OR NEW (Circle one)	1/2 E	Sinte	9			
CONTRACTOR Murfin Drill TYPE OF JOB Production			OWNER	Same		
HOLE SIZE 7 %. T.D.	4658) 	CEMENT			
CASING SIZE 5/2 DEP	TH 465.	1.65	AMOUNT ORD	ered 480	SES LI	テモ
TUBING SIZE DEP		· · · · · · · · · · · · · · · · · · · 	59 G/LSO	AITE MY	flo-se	<u> </u>
TOOL AKENDENTIAL DEP		-3-				
	IMUM_	<u>, , ,</u>	COMMON		@	
	E JOINT 2	5,18	POZMIX		@	
CEMENT LEFT IN CSG. 25,18			GEL		_@	
PERFS.			CHLORIDE	······································	_@	
DISPLACEMENT			ASC. Lite 4	80 sks	_@	1744.00
EQUIPMENT			2// 2	<u> </u>	_	6////00
	MYEL	,)	CILSOni	te 24007	@ 189	2136,00
10111110511 CB111511 ================================	aren			, .an#	@	
BULK TRUCK	arci		Flose	L 120 F	@215 <u>0</u>	300,00
	yne				_ @ _ @	
BULK TRUCK	مدا	CEIVED	-0		_	
# DRIVER	KE	<u> 42 Ju</u>	HANDLING S	5600,585	@ 2140	1358,40
	M	<i>M</i> 0 - 0	MEAGE /	* SKIMIL	<u>e</u>	3396,00
REMARKS:		CCMIC	Lu.		TOTAL	13934.40
mix 200 sts mouse he	oce K	<u>(60 - </u>	HANDLING LANDLING LANDLING LANDLING LANDLING			
mix 30 sts Ret ht	02,E	<u>1/2</u>		SERVI	CE	
Cocine 125h Ocean	pand L	1485	DEPTH OF IO	3006	سی .	· · · · · · · · · · · · · · · · · · ·
Clean Displace place	250	LIFT	PUMPTRUCK	CHARGE	<u>, </u>	1185,00
pressure 1400 Land	& plug	<i></i>	EXTRA FOOTA		@	,,,,,
plug landed took	closed	-	MILEAGE	Dmiles		N/C
Center Circulates	Tlank	404	MANIFOLD		_ @	
•					@	
CHARGE TO: Fim L					_ ~	
STREET					TOTAL	1185,00
CITYSTATE	ZIP		p	LUG & FLOA	ГЕОШРМЕТ	٧T
					_@	
					_@	
To Allied Cementing Co., LLC.						
You are hereby requested to rent cen					_ @	
and furnish cementer and helper(s) to contractor to do work as is listed. The			,			-
done to satisfaction and supervision	-				TOTAL	<u> </u>
contractor. I have read and understan	-					
TERMS AND CONDITIONS" listed			SALES TAX (I	f Any)		
			TOTAL CHAR	GES		· · ·
PRINTED NAME W Gravy) oke		DISCOUNT		IF PA	ID IN 30 DAYS